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(it) All questions carry equal marks.

(i1zi) Negative marks for wrong answers only for MCQ.
() | WA AEr R

(i) && WA §EE O SR

(iii) e IAA THRHES 01 Had MCQ el .

MCQ 10

1. Which was the revenue system introduced in Punjab by British ?

(A) Ryotwari (B) Mahalwari

(C) Mirasdari (D) Jagirdari

fafezTt o@ WA hIv Aeqe USdl @] hal 7

(A)  THTER (B)  Hewdrl

©) e (D)  SEIRER
2. Lord Cornwallis started permanent settlement in the year .................... .

(A) 1793 AD. (B) 1794 AD.

(C) 1795 AD. (D) 1799 AD.

ol Ao SREAN Tga ey & FH.

(A) 2.9, 1793 B) =49 1794

©) 9. 1795 D) =Z49. 1799
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Due to professionalisation of Agriculture :

(A) Benefit of peasantry (B) Benefit of British Govt.
(C)  Benefit of Landholder (D) None of these

I SRR

(A)  FaRAE @Y e B) fofe @R @w e
(C) SRR &Y fHesrel (D) AU ATE

English was introduced as a medium of instruction for Education by :
(A) Lord Macaulay (B) Sir Charles Wood

(C)  Lord Dulhousie (D) Lord Curzon

IS W@ Rieome’ werE &l sAfae ?

(A) € TR (B) TE ¥ cd g8

(C) orE ST (D) W< e

Report of Wood’s existed in the year :

(A) 1854 AD. (B) 1855 AD.

(C) 1856 A.D. (D) 1882 AD.

w W .................. -q-@ 3

(A) S.4H. 1854 (B) =.49. 1855

(C) %-H. 1856 (D) 3.49. 1882

Which Economic Policy accepted in India of British Govt. ?

(A)  Open door policy (B)  Close door policy

(C) Defence policy (D) None of these

foferr TR g WRA HIvd oA g0 seoee T ?

(A)  HHGR &R (B) W&ER €RW

(C)  EEU ERo (D) @l AT

What was effect of British economic policy in Indian industry ?
(A) Growth of Small Industry

(B) Destruction of Small Industry

(C)  Growth of Handicrafts

(D)  None of the above
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IRAr= 3edrmar. fafesmen snfdsr dRomen oo &= e ?

(A)  TERENET 9@ (B) == foAmT
(C) w&fRTeurn fawmE (D) IR AR

What was the immediate reason behind the uprising of 1857 ?
(A) Cartridge covered with fat

(B)  Dissatisfaction of people

(C)  Policy against British
(D) None of the above
3.9. 1857 <A1 33E dlhied U hIvd 2

(A) TEIH HEqY (B) Sadie ST

(C) Tafemfadent &rm (D) S@Usm! AR

In which state was coffee cultivated first ?

(A) Assam (B) Bengal

(C)  Maharashtra (D)  Gujarat

HIhI™ AR GHA: VAT TSI HUAM 3T 2

(A) W (B) W@

(C) W (D)  TSd

Who was the writer of ‘1857’s Swatantra Samar’ ?

(A)  Jus. Ranade (B) V. D. Sawarkar

(C) N. R. Phatak (D) None of these

‘1857 ¥ WA W' @ U™ ot fefgar ?

(A) TR B) fa. . TR

(C) H. T HEH (D) YRl ATE
Theory

Write the information of permanent settlement system.

HIIHYN gl Afedl foer

Or
(fepam)

Write the causes of commercialisation of Agriculture.

~ Y oY N o
lal=dl oAU Ul onRYT el
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3. Write the causes of uprising 1857 A.D. 10
3.9. 1857 <A1 33@TEl R0 ozl

Or
(fenam)
Give the information of agriculture industry in British period.
forfezterrad T1dt e wfedt =
4. Write short notes on (any fwo) : 10

(@) Land revenue system
(1) Cloth industry
(ziz)  Macaulay’s plan (1835 A.D.)
(tv)  Uprising of 1857 : ‘uprising or rebellion’.
e fem = (FE E9)
@) SHH Heqe dgd
Gi) ~ hAS SN
(i)  Heles ASHT (1835)
Gv) 1857 =1 3IJ@ : ‘3@ Wl AL
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